

ПРВИ САБИРАК ЗАМЕЊУЈЕМО ЗБИРОМ И РАЧУНАМО

1. $\begin{array}{r} 10 \quad 2 \\ \swarrow + \searrow \\ 12 \end{array} + 3 = (10 + 2) + 3 = 10 + (2 + 3) = \underline{\quad} + \underline{\quad} = \underline{\quad}$

$\begin{array}{r} 10 \quad 3 \\ \swarrow + \searrow \\ 13 \end{array} + 2 = (10 + 3) + 2 = 10 + (3 + 2) = \underline{\quad} + \underline{\quad} = \underline{\quad}$

$\begin{array}{r} 10 \quad 1 \\ \swarrow + \searrow \\ 11 \end{array} + 3 = (10 + 1) + 3 = 10 + (\underline{\quad} + \underline{\quad}) = \underline{\quad} + \underline{\quad} = \underline{\quad}$

$\begin{array}{r} 10 \quad 2 \\ \swarrow + \searrow \\ 12 \end{array} + 2 = (10 + 2) + 3 = \underline{\quad} + (\underline{\quad} + \underline{\quad}) = \underline{\quad} + \underline{\quad} = \underline{\quad}$

$\begin{array}{r} 10 \quad 4 \\ \swarrow + \searrow \\ 14 \end{array} + 1 = (10 + \underline{\quad}) + \underline{\quad} = \underline{\quad} + (\underline{\quad} + \underline{\quad}) = \underline{\quad} + \underline{\quad} = \underline{\quad}$

$\begin{array}{r} 10 \quad 3 \\ \swarrow + \searrow \\ 13 \end{array} + 1 = (\underline{\quad} + \underline{\quad}) + \underline{\quad} = \underline{\quad} + (\underline{\quad} + \underline{\quad}) = \underline{\quad} + \underline{\quad} = \underline{\quad}$

$\begin{array}{r} 10 \quad 4 \\ \swarrow + \searrow \\ 14 \end{array} + 2 = (\underline{\quad} + \underline{\quad}) + \underline{\quad} = \underline{\quad} + (\underline{\quad} + \underline{\quad}) = \underline{\quad} + \underline{\quad} = \underline{\quad}$

